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Candidates are required to give their answers in their

1.  Answer any ten questions:

own words as far as practicable.
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a)

b)

State the equilibrium condition of money

market.
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Name two tools of fiscal policy.
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In IS-LM framework, other things remaining

same, a decrease in autonomous planned

investment spending shifts the curve

to the .

IS-LM framework & Syl f&rfer wisifzaies =
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What is meant by monetary policy?

S AIfe T0e 6 @mie

What is meant by crowding out effects?
Crowding out &e F ?

Define liquidity trap.

ferpefet Gisl 2

Distinguish between short run aggregate supply

curve and long run aggregate supply curve.

FHIEA TABANS @IANRLA S ALFA AN BNS
G Sy 21 e 541

Define government spending multiplier.
TR A T FICS A 2

What is inflationary gap?

TUPHIoR P FICE A2

What is meant by trade-off between the rate of
inflation and unemployment rate?

TGFHIfed T € ([TFT &I S TS Fi 2

Define cost-push inflation.

Teoe] ARG JHFHITS FICE A0 2
How long run Philips curve look like?
Al fRefersit G wiigfs Fiswst 232
Define seasonal unemployment.
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n) Why is the GDP deflator not an accurate
measure of inflation?
& GDP 27, TS AAfiicets s1fos sifqsist 1 2
0) Define aggregate demand curve.
AfaF bifen! @ FREElfEre 54
2. Answer any four questions: 5%x4=20
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a)

b)

d)
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How does the output level change in the IS-LM
diagram, if both fiscal and monetary policies

change together?
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Explain why AD curve slopes downward.

@1 AD @t feife 3 zz-am4t 59|
Explain the money hypothesis of Great

Depression.
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Distinguish between demand pull inflation and
cost push inflation. How are they often

intertwined?
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3. Answer any two questions:

Explain the main instrument of monetary policy
to control inflation in the economy.
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How do you derive LM curve from equilibrium

of money market?
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Discuss the impact of monetary and fiscal
policies in each of the following cases:
alere efol qoaiw =i ¢ Rermie Aifes doi
RIGIPRIS

i)  If investment does not depend on interest

rate, IS curve is vertical.
Ffr RIS e 29 99 Bold fewie =1 23,
IS (41 23 T |

i1) If money demand does not depend on
interest rate, LM curve is vertical.
i el bifEwl o 2 @ 8 iF fresite Al
23, LM (%1 23 Tory |

iii) If money demand does not depend on

income, LM curve is horizontal.
Ifr wfa vifemt wiw @ e e =1 23,
LM (R4l &2 SR |
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b)

d)
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iv) If money demand is extremely sensitive

to the interest rate, LM is horizontal.

T w1l BifEw o 29 AR TR 0% o
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With AS — AD model explain the multiplier
effect of increase in government expenditure
(1) when price level is constant, (ii) when price
level rises.
AS-AD (T @ FHIE T Ja LR 0T O
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What are the main causes of inflation in India?

Which policies government has adopted to
check inflation?

CIRCS JUPHIfed gui FiRaels Fe @iq dfowE
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With AS — AD model explain economic

fluctuations in the economy. Explain the impact
of increase and decrease in aggregate demand

on GDP and price level in the economy.
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